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Subject IAssistant Teacher (Primary)

Section : Mental Ability

Q.1 If 'PLATE' is coded as '11-15-26-7-22', then how will you code 'PLANTIFF'?
Ans o A 11-15-26-13-7-18-21-21

< B. 11-15-26-18-7-18-21-21

< C. 11-15-26-13-8-18-21-21

< D. 11-15-26-13-7-16-21-21

Question ID : 75322912964

Q.2 %vﬁm%mmﬁaﬁmuaﬁwﬁmﬁﬁm%mwﬁmmmw
et 31
IOP: MKR :: LRD : ?

Ans X A.MSA
X B.OUB
« C.PNF
< D.NTE

Question ID : 75322912963

Q.3 In this question, three statements have been given followed by two conclusions
numbered | and Il. Assuming that all information in the statements are true, analyze
the two conclusions together and determine whether any of them logically and
definitely follow(s) from the information given in the statements.

Statement I: All inverters are electronics.
Statement Il: Some electronics are portable devices.
Statement lll: Some inverters are generators.

Conclusion I: All generators are electronics.
Conclusion Il: Some inverters are portable devices.

Ans X A. Only | follows
< B. Only Il follows
#< C. Both | and Il follows

«” D. Neither | nor Il follows

Question ID : 75322912969
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Ans

Q4 FERTAAF TP S P IR FE P TG A A IS &1 A AT I BR WIS B,

3ifar T | 33 AT A TP WA BIsd WIc WIBT21 C, B P TP WM BISP d0T @,

AP 3ifow BR WS 8121 D, B F a77a & 78 ¥6 a1 21 E, C & a1 & FoT 21 A0¢

¥ 59 VI TR B 931872

o A F
X B.D
K CE
X D.B

Question ID : 75322912967

Ans

Q.5 Out of the given options, three are similar in a certain manner. However, one option is

NOT like the other three. Select the option which is different from the rest.

O O
O U
[] O[]

(1 O
1 O
SJule

(1O
O O
(1 Ll

& B
1 O[]

(1)
o A4
X B.3
X c1
X D.2

(2)

(3)

(4)

Question ID : 75322912976

Ans

Q.6 In this question, two statements have been given followed by two conclusions

numbered | and Il. Assuming that all information in the statements are true, analyze
the two conclusions together and determine whether any of them logically and

definitely follow(s) from the information given in the statements.

Statement I: Some cakes are muffins.
Statement II: All muffins are chocolates.

Conclusion I: Some cakes are chocolates.
Conclusion II: All chocolates are muffins.

< A. Only Il follows

< B. Both | and Il follows

«” C. Only | follows

25 D. Neither I nor Il follows

Question ID : 75322912968
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Q.7 In the following diagram, the triangle represents MBA students, the circle represents
doctors and the square represents PhD holders. Which region represents MBA
students who are PhD holders but not doctors?

NE

\UQ >

Ans X A.C
« B.D
K C.A
X D.B

Question ID : 75322912972

Q.8 Which one of the following is correct? Choose the correct mathematical operators in
place of the hash # sign.
144#6#8#3

Ans X A.x = =+
K B.x = =
K C.o+ % =
o D. 5 = x

Question ID : 75322912970 ]

Q.9 From her painting class, Ganga went 37 km to the North and then she turned West and
covered 16 km. Then she turned South and covered 7 km and made a final turn to east
covering 16 km. In which direction is she from her painting class?

Ans  « A. North
< B. West
/< C. East
25 D. South

Question ID : 75322912974 ]
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Q.10 From the given answer figures, select the one in which the question figure is
hidden/embedded.

Ans X A A
IMAGE

& B.D
IMAGE

S C.B
IMAGE

& D.C
IMAGE

o\

Question ID : 756322912977

is related to the first term.
DELHI : CDKGH :: SIKKIM : ?

Ans o A RHJJHL
< B. RHJLHJ
< C. RHHJJL
< D. RUHJHL

Q.11 Select the option that is related to the third term on the same basis as the second term

Question ID : 75322912962
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Q.12 From the given answer figures, select the one in which the question figure is
hidden/embedded.
Ans o A C
IMAGE
X* 2
K B.A
IMAGE
/X C.D
IMAGE
X D.B
IMAGE
?

Question ID : 75322912978

https://cdn.digialm.com///per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1//125802242/125802242S562D2272/16483863045434209/1 ...

@Teacningninia.in

5/42



4/5/22, 3:20 PM https://cdn.digialm.com///per/g01/pub/1258/touchstone/AssessmentQPHTMLMode 1//125802242/125802242562D2272/1648....

Q.13 Out of the given options, three are similar in a certain manner. However, one option is
NOT like the other three. Select the option which is different from the rest.

(1) (2) (3) (4)
Ans X A.1
X B.4
& C.3
X D.2

Question ID : 75322912975 ]

Q.14 Rearrange the letters given below to form a meaningful word and select from the given
alternatives, the word which is almost opposite in meaning to the word so formed.
E,F,N,G,D,E,N, I, A

Ans X A PLANGENT
< B. SONOROUS
o C. STILLY
< D. CLAMOROUS

[ Question ID : 75322912960 ]

Q.15 Of the five localities, A, C, B, J and L situated in a vicinity to each other, A is to the
West of C, B is to the South of A, L is to the North of C and J is to the East of L. Then,
in which direction J is with respect to B?

Ans X A. North-West
5 B. South-East
«” C. North-East
25 D. South-West

Question ID : 75322912973

Q.16 Manav is the brother's son of Akash. Akash is the only sibling of Samarth. Pawan is
Akash's father. How is Manav related to Pawan?

Ans  # A. Son's son
/< B. Father's father
#< C. Son
25 D. Father

Question ID : 75322912965 ]
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Q.17 Which of the given options fits correctly in the blank space to exhibit the similar
pattern shown by the three sets below?

3 4 %

251 2 | 81| 7 [121] 2

Ans X A7
X B.9

& C.5
X D.6

Question ID : 75322912971

Q.18 Find the missing letter in the following series:
P,MJ, G, 2A

Ans X A K
X B.C

& C.D
X D.H

Question ID : 75322912959

Q.19 Out of the given options, three are similar in a certain manner. However, one option is
NOT like the other three. Select the option which is different from the rest.

Ans & A. Accountancy
< B. Chemistry

#< C. Biology
5 D. Physics

Question ID : 75322912961

Q.20 Arrange the following in a logical and meaningful order.
1. Print Application and Appointment Receipt.
2. Register in the Passport Seva Online Portal.
3. Login with the login credentials.
4. Apply.
5. Fill and submit the application.
6. Pay and Schedule Appointment.
7. Visit the appointment spot for verification.

Ans X A.4,1,2,56,3,7
X B.2,7,4,6,51,3
K C.2,3,4,1,6,57
o D.2,3,4,56,1,7

Question ID : 75322912966

Section : General Awareness
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Q.1 The Ashvamedha yajna was a sacrifice by ancient Indian kings to prove
their imperial sovereignty.

Ans X A.Elephant
«” B. Horse
#< C. Buffalo
< D. Goat

Question ID : 75322912989

Q.2 The Sawlakin folk dance originated in which of the following states?
Ans X A.Nagaland

#< B. Assam
o# C. Mizoram
#< D. Arunachal Pradesh

Question ID : 75322912980

Q.3 What was the total number of signatories of the Indian Constitution?
Ans o A 284

X B.272

< C.264

X D. 256

Question ID : 75322912995 ]

Q.4 geXieR 3P ATAS R et 7 g wunait &1 TP WUE B
Ans «AslmTaT%@‘T

X B.EWS

X C. FHHA HH

X D. femm i fearaeult

Question ID : 75322912994

Q.5 How many grand Prix F1 World Championships has India hosted as of 2021?
Ans o A3

X B.4
X cC.5
X D.2

Question ID : 75322912997

Q.6 The Kandariya Mahadev Temple was built under the patronage of which Rajput clan?
Ans X A. The Rathods of Kannauj

«” B. The Chandellas of Bundelkhand
#5 C. The Chauhans of Delhi and Ajmer
#< D. The Sisodiyas of Mewar

Question ID : 75322912991 ]
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Q.7 Which of the following concepts is used in GPS for determining the position of
objects?

Ans X A.Magnetism
< B. Wetting
#< C. Triangulation
«” D. Ranging

Question ID : 75322912983

Q.8 The patterns of colours that are formed by a kaleidoscope when held against a light
source, are formed by which of the following phenomena?

Ans X A. Deflection of Light
/< B. Refraction of Light
#< C. Diffraction of Light
o D. Reflection of Light

Question ID : 75322912984

Q.9 IR YT BT g Ae 3feg= A Fafiafae o I fFa yRdlg AeTeer wR enutiia 82
Ans X' A IHR

X B. ggaRd

o C. TETHRA

< D. sferd

Question ID : 75322912992

Q.10 The concept of suspension of Fundamental Rights during emergency in India was
influenced by the constitution of which country?

Ans X A.France
#< B. Japan
#< C. United Kingdom
o# D. Germany

Question ID : 75322912996

Q.11 Home in the World: A Memoir is a book by
Ans X A.P.C Mahalanobis

2 B. Abhijit Banerjee
#< C. Kaushik Basu
«” D. Amartya Sen

Question ID : 75322912993

Q.12 The Koshi river enters into India through which state?
Ans X A. Sikkim

/< B. Himachal Pradesh
«” C. Bihar
#< D. Uttar Pradesh

Question ID : 75322912986
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Q.13 The Mahanadi river has its source in which of the following states?
Ans  &# A Chhattisgarh

#< B. Jharkhand
#< C. Madhya Pradesh
#< D. Andhra Pradesh

Question ID : 75322912987 ]

Q.14 The Buddh International Circuit for F1 racing was shut down by which of the following
authorities?

Ans X A. Gurugram Metropolitan Development Authority
#5 B. National Highways authority of India
«” C. Yamuna Expressway Industrial development authority

#< D. Haryana Urban Development Authority

Question ID : 75322912998

Q.15 Which is the highest peak of the Pir Panjal Range?
Ans X A. Manimahesh Kailash Peak

#< B. Mount Deo Tibba
«” C. Mount Indrasan
#< D. Pir Kanthi

Question ID : 75322912988 ]

Q.16 ga=RTey Rrerae Fufifed # 3 fea T« w @lem T a1
Ans XA TS

X B.7gE

o C. TERT

< D. urefaga

Question ID : 75322912990

Q.17 According to data collected by the IMF World Economic Outlook, what is India's
contribution to world GDP in FY 2019-20207?

Ans X A.5.62%
X B.4.00%
o C.3.25%
X D.7.50%

Question ID : 75322912982

Q.18 Who constitutes the Finance Commission under article 280 of the Indian Constitution?
Ans  # A President

#< B. Finance Minister
#< C. Chief Economic Advisor
#< D. Prime Minister

Question ID : 75322912981 ]
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Q.19 The state of Tripura can be associated with which of the following folk dances?
Ans X A Rangma

o B. Hojagiri
#< C. Yak Chaam
#< D. Dol Cholam

Question ID : 75322912979

Q.20 Which of the following kitchen ingredients can be used to depress the freezing point
of water?

Ans X A.Vinegar
#< B. Baking Soda
#< C. Baking powder
& D. Salt

Question ID : 75322912985

Section : Arithmetic Ability

Q.1 o fyemer # fafts fawy v@m 9re o) &) 19 few e ur-ard gr exitar wan 21 el
T a1d B F1 gfard 3= fawg Ram aral @ gan | fean ufowra siftre 82

B T &

Ans o A 6%
< B.8%
& C.12%
< D.10%

Question ID : 75322913016

Q.2 x% of (35% of 600 ) = 35.7 , find x.
Ans X A 15

X B.18
& C. 17
X D.16

Question ID : 75322913006
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Q.3 Two men start running at the same time in the same direction at a speed of 12 km/hr
and 15 km/hr respectively. In what time they will be 10 km apart?

Ans  # A. 200 minutes
#< B. 220 minutes
< C. 210 minutes
< D. 180 minutes

Question ID : 75322913011

Q.4 Find the simple interest on Rs. 18,000 at 8.5 % per annum for a period of 3 years.
Ans X A.Rs. 4650

X B. Rs.4950
X C.Rs.4509
«” D. Rs. 4590

Question ID : 75322913010

Q.5 The average of first 10 multiples of 11 is
Ans o A 605

X B.555
X C.60
X D.55

Question ID : 75322913004

Q.6 45% of 1050 - 72.5 =
Ans X A 471

X B.4005
X C.472
o D. 400

Question ID : 75322913005

https://cdn.digialm.com///per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1//125802242/125802242S62D2272/1648....

Q.7 Raju completed the science project in 20 days. How many days will Guru take to
complete the same work if he is 25% more efficient than Raju?

Ans o A 16 days
< B. 14 days
< C. 10 days
< D. 12 days

Question ID : 75322913013

Q.8 Find the value following expression at p = 4/3 . If (4p - 3)x (4pxp + 4p +9)x(9pxp - 16).
Ans o A0

K B.2

X cC3

X D.1

Question ID : 75322913000
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Q.9 The correct expression for 7.464646464646____in the fractional form.
Ans o A 739/99

< B. 693/99

< C.639/99

#< D. 793/99

Question ID : 75322913003

Q.10 Number of persons playing different sports in a society are shown by the Bar graph.

sports.

If

only 10% of total are playing cricket, then find the number of persons not playing any

1

o5 8888338 388

Mumber of persons playing sports

Crickat Football Vollay Ball Hockey Table Tannis  Lawn Tannis
Sports

80
70
[11]
1 50
a0
| I I m

Ans X A. 120
& B. 160
X C. 180
X D. 140

Question ID : 75322913017

Q.11 The HCF of two numbers is 13. Which of the following can never be their LCM?
Ans # A.62

X B.65
X C.78
K D.52

Question ID : 75322913001

length of the longest pole that can be placed in a room is 25 m. What is the height of
the room?

Ans o A.7Tm
< B.5m
X C.11m
< D.9m

Q.12 The length of the longest pole that can be placed on the floor of a room is 24m and the

Question ID : 75322913015
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Q.13 Find the value of x : 4x(1/x) x\(x) = 8

Ans X A2
& B.1
o C.1/4
& D.3/4
Question ID : 75322912999 ]
Q.14 If surface area of a sphere is 1232 cm?, then its diameter is .(Take m = 22/7)

Ans X A.14cm
< B.10V2 cm
< C. 1242 cm
o D. 14\2 cm

Question ID : 75322913014

Q.15 A survey of number of users of android phones of different companies was conducted
in a locality which was represented by a Bar graph as shown. If 50% of Samsung users
shifted to use Ml phones, then what percent of total users are using Ml phones now?

2500
2500 2400

2200
2000 -

1500

1000 -

Number of users
g

500

Apple Samsung M Redmi Oppo Lenoveo

Companies

Ans X A 32%
X B.32.53%
X C.30%
o D.30.53%

Question ID : 75322913018

Q.16 Ronak weighs 86.7 kg. If he reduces his weight in the ratio 5:3, then his new weight
will be .

Ans X A.56.02kg
« B. 52.02kg
< C.54.18kg
2 D. 50.02kg

Question ID : 75322913008 ]
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Q.17 When a second hand car is sold for Rs. 180000 the owner loses 25%. At what price it
must be sold in order to get a gain of 25%?

Ans X A.Rs.200000
X B. Rs.250000
X C. Rs.270000
«” D. Rs.300000

Question ID : 75322913007

Q.18 A shopkeeper has three different types of milk of volume 1755 litres, 3783 litres, 1599
litres. Find the least number of vessels of equal size required to store all without
mixing.

Ans X A.173

< B.182

& C. 183
X D.172

Question ID : 75322913002

Q.19 The ratio of number of boys to the number of girls in a college of 720 students is 4:5. If
20 new girls are joined in the college, find how many new boys may be admitted so
that the ratio of the number of boys to the number of girls may change to 4:3.

Ans X A 40
X B. 140

X C.80
o D. 240

Question ID : 75322913009

Q.20 The ratio between the speeds of a bus and car is 5:8. If the car travels 180 km in 2.5
hours, find the speed of the bus.

Ans X A.30 km/hr
«” B. 45 km/hr
25 C. 50 km/hr
& D. 35 km/hr

Question ID : 75322913012

Section : General English

Q.1 Select the most appropriate idiom/phrase of the given meaning

To make a mistake
Ans X A. Dark Horse

#< B. Doggy bag
" C. Drop the ball
#< D. Done to death

Question ID : 75322913032
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Q.2 Four words are given, out of which only one word is spelt correctly. Choose the
correctly spelt word.

Ans X A. coalecse
«” B. coalesce
#5 C. coalase
#< D. coelesce

Question ID : 75322913029

Q.3 Select the most appropriate 'one word ' for the expressions given below

Urging or requesting (someone) solemnly or earnestly to do something
Ans X A. Gazette

/< B. Elegy
o C. Adjure
#< D. Endowment

Question ID : 75322913033

Q.4 Fill in the blank with the most appropriate choice

The scenes are pastorals of peasant and aristocratic life during the
period.

Ans X A artless
#< B. bombastic
" C. bucolic
#< D. audacious

Question ID : 75322913024 ]

Q.5 Select the word that is opposite in meaning (ANTONYM) to the word given below

disenable
Ans X A. maim

«” B. assuage
75 C. disable
45 D. prostrate

Question ID : 75322913027

Q.6 The sentence below has been divided into three parts. Select the part of the sentence
that has an error. If the sentence has no error, select the option ‘No Error'.

My local authority spends a lot of/ money simply trying to issue a court/ summonses
and pursuing people for non-payment.

Ans X A. No Error
#< B. My local authority spends a lot of
#< C. money simply trying to issue a court

" D. summonses and pursuing people for non-payment.

Question ID : 75322913020
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Q.7 Four words are given, out of which only one word is spelt incorrectly. Choose the
incorrectly spelt word.

Ans X A.repudiate
< B.rescind
25 C. prevail
«” D. relavent

Question ID : 75322913030

Q.8 Select the word segment that substitutes (replaces) the bracketed word segment
correctly and completes the sentence meaningfully. Select the option 'no correction
required' if the sentence is correct as given.

He said (that, it'd been raining since that) afternoon.
Ans & A. that, it'd been raining from

<5 B. No correction required
«” C. that it'd been raining since that

/< D. "lt'd been raining since that

Question ID : 75322913021

Q.9 The sentence below has been divided into three parts. Select the part of the sentence
that has an error. If the sentence has no error, select the option 'No Error'.

The essential difference/ between Sara and | is in/ our attitude to money.
Ans X A.No Error

«” B. between Sara and | is in
#5 C. our attitude to money.

25 D. The essential difference

Question ID : 75322913019

Q.10 Fill in the blank with the most appropriate choice

Yet do not esteem him as an enemy, but him as a brother.
Ans X A.abate

#< B. aggrandize
5 C. abscond
" D. admonish

Question ID : 75322913023

Q.11 Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the
option that gives the correct sequence in which these parts can be rearranged to form
a meaningful and grammatically correct sentence.

So many children

P. brutalized by years

Q. crimes have

R. themselves been

S. who commit violent
of abuse and neglect.

Ans X A.SRQP
< B.SPQR
« C. SQRP
X D. SPRQ

Question ID : 75322913025
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Q.12 Select the word that is similar in meaning (SYNONYM) to the word given below

subsidize
Ans X A. waggish
< B. arbitrary
«” C. contribute
25 D. erratic

Question ID : 75322913028

Q.13 The question below consist of a set of labelled (P, Q, R, S) sentences. Out of four
options given, select the most logical order of the sentences which form a paragraph.

Early in the Nazi regime of Adolf Hitler, Anne’s father, Otto Frank (1889-1980), a
German businessman, took his wife and two daughters to live in Amsterdam.

P. That day she began writing in the book: “I hope I will be able to confide everything
to you, as | have never been able to confide in anyone, and | hope you will be a great
source of comfort and support.”

Q. On June 12, 1942, she received a red-and-white plaid diary for her 13th birthday.

R. In 1941, after German forces occupied the Netherlands, Anne was compelled to
transfer from a public school to a Jewish one.

S. When Anne’s sister, Margot, was faced with deportation (supposedly to a forced-
labour camp), the Franks went into hiding on July 6, 1942, in the backroom office and
warehouse of Otto Frank’s food-products business.

With the aid of a few non-Jewish friends, among them Miep Gies, who smuggled in
food and other supplies, the Frank family and four other Jews—Hermann and Auguste
van Pels and their son, Peter, and Fritz Pfeffer—lived confined to the “secret annex.”

Ans X A.RQSP
/5 B.RSPQ
« C.RQPS
25 D.RPSQ

Question ID : 75322913026

Q.14 Select the word segment that substitutes (replaces) the bracketed word segment
correctly and completes the sentence meaningfully. Select the option 'no correction
required' if the sentence is correct as given.

A natural-born mechanic and tinkerer, (he kept many an old flivver on) the road.
Ans  # A. No correction required

5 B. he keeps many an old flivvers on
#< C. he kept many an old flivvers on

< D. he kept many old flivver on

Question ID : 75322913022

Q.15 Select the most appropriate meaning of the given idiom/phrase
A blessing in disguise
Ans X A. Something that's abundant in quantity and/or cheap; something that’s easily acquired
«” B. Something good that isn’t recognized by first
< C. An action or task that is simple to do

#< D. Something that is very pricey; expensive

Question ID : 75322913031
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Q.16
Ans

Comprehension:
Read the passage carefully and choose the best answer to each question out of the four
alternatives

All viruses are made up of two kinds of substance. First, all viruses contain proteins. Proteins
are chemical substances that occur in all living creatures. A particle, or molecule, of a protein
consists of a long chain of substances called amino acids. There are about 20 different kinds
of amino acid in proteins. These can be arranged in any order on the protein chain. Different
kinds of plant or animal contain proteins with different arrangements of amino acids. The
protein generally forms the outer coat of a virus. This outer layer of protein encloses the
second kind of substance found in all viruses - nucleic acid.

SubQuestion No : 16

It is stated in the passage that proteins

5 A. are the only substance found in viruses
«” B. are found in all living creatures
25 C. are also known as amino acids

5 D. are not found in plant based life forms

Question ID : 75322913039

Q.17

Ans

Comprehension:

Read the passage carefully and choose the best answer to each question out of the four
alternatives

All viruses are made up of two kinds of substance. First, all viruses contain proteins. Proteins
are chemical substances that occur in all living creatures. A particle, or molecule, of a protein
consists of a long chain of substances called amino acids. There are about 20 different kinds
of amino acid in proteins. These can be arranged in any order on the protein chain. Different
kinds of plant or animal contain proteins with different arrangements of amino acids. The
protein generally forms the outer coat of a virus. This outer layer of protein encloses the
second kind of substance found in all viruses - nucleic acid.

SubQuestion No : 17

According to the passage, which of the following option is incorrect? Choose one
option.

< A. Different kinds of plant or animal contain proteins with different arrangements of
amino acids.

#< B. All viruses are made up of proteins.
25 C. The second type of substance found in all viruses is nucleic acid.

&” D. Proteins are chemical substances that occur in all living creatures of the animal
kingdom only.

Question ID : 75322913036

Q.18
Ans

Comprehension:
Read the passage carefully and choose the best answer to each question out of the four
alternatives

All viruses are made up of two kinds of substance. First, all viruses contain proteins. Proteins
are chemical substances that occur in all living creatures. A particle, or molecule, of a protein
consists of a long chain of substances called amino acids. There are about 20 different kinds
of amino acid in proteins. These can be arranged in any order on the protein chain. Different
kinds of plant or animal contain proteins with different arrangements of amino acids. The
protein generally forms the outer coat of a virus. This outer layer of protein encloses the
second kind of substance found in all viruses - nucleic acid.

SubQuestion No : 18

It is stated in the passage that amino acid

25 A.is a molecular chain in which protein is found
< B. are of 20 different kinds arranged in a similar pattern across all life forms
#< C. forms the outer coat of the virus

«” D. are about 20 different kinds.

Question ID : 75322913038
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Comprehension:
Read the passage carefully and choose the best answer to each question out of the four
alternatives

All viruses are made up of two kinds of substance. First, all viruses contain proteins. Proteins
are chemical substances that occur in all living creatures. A particle, or molecule, of a protein
consists of a long chain of substances called amino acids. There are about 20 different kinds
of amino acid in proteins. These can be arranged in any order on the protein chain. Different
kinds of plant or animal contain proteins with different arrangements of amino acids. The
protein generally forms the outer coat of a virus. This outer layer of protein encloses the
second kind of substance found in all viruses - nucleic acid.
SubQuestion No : 19

Q.19 How many kinds of amino acids can be found in proteins?

Ans X A.25
X B.30
X C.10
o D.20

Question ID : 75322913035 J

Comprehension:
Read the passage carefully and choose the best answer to each question out of the four
alternatives

All viruses are made up of two kinds of substance. First, all viruses contain proteins. Proteins
are chemical substances that occur in all living creatures. A particle, or molecule, of a protein
consists of a long chain of substances called amino acids. There are about 20 different kinds
of amino acid in proteins. These can be arranged in any order on the protein chain. Different
kinds of plant or animal contain proteins with different arrangements of amino acids. The
protein generally forms the outer coat of a virus. This outer layer of protein encloses the
second kind of substance found in all viruses - nucleic acid.

SubQuestion No : 20
Q.20 How many substances is a virus made of?
Ans X A.three

< B. four
& C.one
«" D.two

Question ID : 75322913037 ]

Section : General Hindi

Q1 ﬁaﬁﬂ%awﬁ,mﬁmﬁﬁ,wﬁmaﬂmﬁﬁmwmmm
foweu 21

Ans X A RS
«” B. 3f&d
X C. et
2 D. I

Question ID : 75322913048
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Q.2 Wﬂuﬂﬁ,wﬁaﬁﬁﬁ,wﬁmmwﬁﬁﬁﬁwwmmm
faper B

Ry
Ans X A TAd

 B.IT
X C. 3\
< DY

Question ID : 75322913044

Q3 fFufafed uy #, IR ool & |, 39 98l fdee &1 997 &% o ari=n & e ve vsg
o1 fdpea 811
ST & e g
Ans X' A TI
X B. 3
2 C. 3fTarrt

o D. Y

Question ID : 75322913045

Q4 ﬁaﬁ-ﬂ?awﬁ,wﬁwﬁﬁﬁ,wﬁmmmﬁwﬁﬁnémmwa&m
fawer 21
Aeft @

Ans XA.W@:H
X B. WY &E

X C. Ay g
& D. S TIad Td Bl

Question ID : 75322913054 ]

Qs ﬁgﬁr%awﬁ,mﬁwﬁﬁﬁ,wﬁwwmﬁvﬁﬁ?mﬁﬁgﬁmmw
e a

Ans X A TS Y St @ o, S A S A, 39 fiers e
X B. TSN 3 St | HeT-oft A a1 {3 firaTs v
X C. TTar 3 gl F &7 St B §1d AF 39 fiyaTs e
o D. ATATSH! 3 sl BT, "3 Bl 7 39 o e

Question ID : 75322913051

Q.6 fFrufafed uy #, IR e |, 39 ee &1 797 33 S g = arar Qe 21
Ans XA TR

X B.q

o C. TS

X D.guel

Question ID : 75322913047 ]
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Q.7 fmfufad uy #, IR Aol # A, 39 fAee o1 ag= o3 &l ST § 91 Wsg BT et
fawer T 8

Ans g A "fedl

X B.yaf@

X C. Ty

X D.pAfd

Question ID : 75322913042

Q8 fufafad vy #, ar ol & |, 39 98l e &1 997 o o Raa RF & e suga
g PTG fadea @ | .
STET HTTSH BT giar 2, 98 areaq A faftr s-udt & geu € e €1

Ans X A ®Y
#< B. 3fcimd
X C.Have
o D. e

Question ID : 75322913046 ]

Q.9 fHferad vy #, IR faeeul # 9, 39 ey &1 997 & Wl 3T T dieiiad &1 gt oref
qrer faeey B
TS FHIoIT -t geg

Ans X A TEY 3@
o B. BRI
X C. T Bt 3= ST
X D. faodia smeRo

Question ID : 75322913052
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Q.10 fmfafed uy ¥, IR el & /, 39 AT o1 797 $¥ Wl 3T 7T Areg-gm & 3rf &1
T =31 fawpeu B1
g
Ans X A dF-TRE
X B. ATS-TRIE
X C.gilgam
o D. TA-IRE

Question ID : 75322913050

Q.M Fyfafad uy & 9R e 3 ¥, 39 e o1 997 o3 &) 3T 7 g & Rg 9@
qgsiife TAN & faurg &1 fawea 81
g

Ans X A QY 3T

X B. WP 31
& C. X 3MTeT aran
2 D. S BT 31T

Question ID : 75322913041
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Q.12 ﬁq%?awﬁ,wﬁaﬁﬁﬁ,wﬁmmwﬁﬁﬂﬂé%ﬁmﬂﬁaﬁm
Rew

eI
Ans X A 93SId BT
X B. USRI ST
o C. T5d WM &R S
2 D. AfSTd &1

Question ID : 75322913053

Q.13 FyfafEd uy §, aR el #§ 9, 39 Ao o1 999 oY &) 3w 70 2 & & i fide
%1 fAPeu gl
AR

Ans 7 A T + 3R
< B.9G + 3R
7< C.¥aTl + 3[R
X D.9al+d9R

Question ID : 75322913040

Q.14 fFfifEd uy # IR el § A, 39 e o1 997 ¥ &l 3T T e & afgarh e
H1 g Rpe T8 2 |
TS

Ans }{;A_étﬁn
X B. @™
o C.fao=
2 D. UfeRTT

Question ID : 75322913043

Q.15 frafafea uy ¥, IR el # A, 39 RAwew &1 997 3 o 379 [V S T4 e
P qad 33T fadeq 71

Ans X A 3TH!
X B.3%
o C.3H
< D. 3!

Question ID : 75322913049

Comprehension:

I fou TR T B eaFYdS U SR IR faded B I Udd Uy 1 aad IR g |

TS & SiaH o T&d BT 1 95 AT §| A& P ToHT ofia fe=mgH ot o9 gt 8] fomm ae
¥ ofiaT H SER-IWR Hedhd AT & Hi T e R U1sii| afe & =1 ared ot Ugd ST
T TeT T8N 3R 3T W HT Y| arad A Sia It &1 ardfe ¢ Rt uikfRufeat &t agan
BT T8 g| Mefioh Hed & $B T A I 3T 8, S AT off TS Bl § I THA-3TH
BT 3] B ST BT ST--3T= & dT Bl & 3R S & IR a8 ded Faffed wrar 3| o
faemel &1 weT § Taffie i Ure A dl e B aTall BT e BN Ueei el UTed hll| 3t
e Tl afgen &1 dga srafk g1 8 gsar 3|

SubQuestion No : 16
Q.16 9H A -1 T&T BT THMAT Weg T 32
Ans X A &g
X B.3e=A
X C.WeH
« D. 308

Question ID : 75322913059
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Q.17

Ans

Comprehension:

Fr fou T TR B eAYdS UG SR IR fddent B I Udd Uy T arad I g |

TS & SiiaH | T&d &1 g1 95 AT §| A& b foT sha femmdi= aur o02f &t 3 fomm ae
& i B TR-3WR Hedhd Med $o off Tt Tt R ureii| afe $@ FHRA1 91gd af Ugd SOl
T TeT I8N 3R 3T W HT Y| arad A Sia It &1 ardes ¢ e uikfRufaat &) gean
BT 189 8| Mol Hed & $T T I I 3T 8, TS T ol $O Bl ¢ I THA-IHTH
BT B R S BT U-3T & Bl 8 3R I & AR a8 e i wrar 3| S
foremeff o1 wiea © Faffties 3ich UTed AT At Hiep<) A aTell bl &l BT UG wifg UTed oheAl| g2t
e foreft ofgen &1 aga srafak 81 8 g 3

SubQuestion No : 17
TP AR AU 967 fpad rgar Fuffva wwar 82
X A, 3T gEerar
X B. 307 3icp
X C. 3 Ug
& D. 3(UAT &

Question ID : 75322913058

Q.18

Ans

Comprehension:

2 fou T T B erFYdS U SR IR fadedt B I Udd Uy 1 Jarad IR 9|

I % SiiaH § 7187 1 AT §gd SHTaNad ¢8| 78T P fT Sita fe=megi= qur oaef €t @) fam wiea
& S § $ER-3R HThd od P& I U 81 B UTeii| Al $& A1 d1gd dl Usdl U
TS 6T I8N 3R I W BT Y| arad H sfia 34T 1 Arfer ¢ R uRkfRufea & ggaq
BT e g| Mol Bed & $B T I I 3T 8, $S BT off TS Bl § I8! D A-3THa
BT B R ST T ST-3TT & dT BT & 3R I & IR 98 ded Faffed srar 3| o
faremeif &1 viea © Fafftres 3ich UTed BT ol Aieps) A arell bl &l BT UG wifd UTed oheTl| g2t
TRE [t nigen &1 aeg ek 191 81 I g

SubQuestion No : 18

T TG BT HIs IUF M-
X A TSl U HRAT

X B. uRffaal & sgamr
X C. Uhd-3g%hd g
& D. a1 ¥ A&7 &1 I8

Question ID : 75322913060

Q.19

Ans

Comprehension:

Fr fou T T B erYd S U SR IR fAden § I U U BT JaraH IR I |

HIS & Sita B 7187 BT ST Sgd Sa%ae 8| 16T P T Sitae fexmei qur audf €1 2| fam wie
& Sfia H SER-IR HThd ed & Hi U g1 B TI3fil| Afe F& H1 g df Ul ST
TS T&T T3 3R IT R BT H| IId H St 341 &1 s 7 e uRkfufodt & sgam
BT AEY g el Fed 4 T T B U 31 8, O BN Sl $© HRal & T6! THA-3RHd
BIT 3] TR S B 3T-1-310-T &aT 81 7 3R I F AR 98 g Pl oxar ) 9
foremeff &1 wigy B Fafftres 3ich Ure AT At H1eh<) A Tl bl &Y BT U wifa UTed ab=etl| gt
e el nfeet &1 deg srafieRk 81 8 el 3

SubQuestion No : 19
frud Sfaa ot ardfe sftas ws1 T 82
o A Tl aReRufrdl 1 weer @) o
X B.SUyyy e
X C. e o1 w6 1T 8
X D. S uRTfE! & SrgaR WY 3! 964 &dl §

Question ID : 75322913057
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Comprehension:

I fou T TR B eAFYdS UG SR IR fddent B I Udd Uy 1 Harad I g |

TS & SfiaH | T&d &1 1 95 AT §| A& P foT Sha femmegi= aur =02 &t g fomm e
& i B TER-3WR Hehd el $o off Tt T R ureii| afe $ FHr1 d1gd af Ugd ST
TP TeT F13M 3R 3T W HT Y| arad A Sia It &1 arde ¢ e uikfRufeat &) gean
BT 169 8| Mefioh Hed & $ T H I 3T 8, S BT off T© Bl § It THA-HTH
BT 8] 8% S BT HT--3T & Bt & 3R I & IR a8 ded Faffed srar 3| o
foremeff &1 wiea © Faffiies 3ich UTed AT At Hiep<) A aTell bl &l BT UG wifg UTed obReAl| g2t
Te foelt afgen &1 aga srafk g1 8 g g

SubQuestion No : 20
Q.20 3¢ F TR fFad = sfia= fe=md= aur e 32
Ans X A fiF

X B. Tl
2 C.uRar
 D. A

Question ID : 75322913056

Section : Discipline1

Q.1 "Object Permanence" is a major characteristic of which stage of child development ?
Ans X A. Early-childhood

& B. Infancy
#< C. Middle-childhood
25 D. Adulthood

Question ID : 75322913067

Q.2 This refers to the learners active attention to the stimuli and his/her motivation to
learn.

Ans & A. Responding
/< B. Organization
#< C. Valuing
< D. Receiving

Question ID : 75322913073

Q.3 Kida at this stage understand that if you break a candy into smaller pieces it will be the
same amount as when the candy was whole. Identify the stage.

Ans X A. Pre-operational stage
#< B. Sensory motor stage
#< C. Formal operational stage

«” D. Concrete operational stage

Question ID : 75322913064

Q.4 Children in a democratic culture tends to acquire democratic values and attitudes.
This statement clarifies the role of factor affecting learning.

Ans X A.Emotional
< B. Psychological
o C. Cultural

#< D. Environmental

Question ID : 75322913080
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Q.5 A child may have a schema about a type of animal, ex : Dog. Suddenly, the child went
awestruck when he encounters a new, big and different breed of dog again. So, in this
case the child is the new information into his existing schema about dog.

Ans X A. Transforming
o B. Assimilating
#< C. Manipulating
5 D. Accommodating

Question ID : 75322913068

Q.6 Whose sociocultural theory of learning explains that learning occurs during social
interactions between individuals ?

Ans X A.Piaget
#< B. Socrates
#< C. Pavlov

«” D. Vygotsky

Question ID : 75322913076

Q.7 Identify the period from the day of conception till the birth of the child.
Ans & A. Pre-natal period

< B. Infancy
#< C. Late-childhood
#5 D. Early- childhood

Question ID : 75322913061

Q.8 The affective domain includes the manner in which we deal the things
Ans X A. Psychologically

#< B. Spiritually
< C. Analytically
«” D. Emotionally

Question ID : 75322913070

Q.9 According to Jean Piaget, the child acquires the skill of using symbols, languages at
which stage ?

Ans X A. Sensory motor stage
/< B. Formal operational stage
o C. Pre-operational stage

#< D. Concrete operational stage

Question ID : 75322913062

Q.10 If the school atmosphere is ,it adversely affects the learning process.
Ans X A. Disciplined

#< B. Harmonious
/< C. Positive
«” D. Unconducive

Question ID : 75322913078
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Q.11 The cognitive domain involves and the development of skills.
Ans X A. Singing skills, dance

< B. Knowledge, writing
#< C. Theory, drawing
«” D. Knowledge, intellectual

Question ID : 75322913069 ]

Q.12 Which amongst the following is "not" a socio-cultural factor affecting learning process
?

Ans ¥ A. Handwriting
#< B. Gender
/5 C. Language

< D. Income level

Question ID : 75322913077

Q.13 In which domain the hierarchy ranges from reflexes and basic movement to non
discursive communication and meaningfully expressive activity ?

Ans X A. Cognitive
/< B. Synthesis
#< C. Affective
«” D. Psychomotor

Question ID : 75322913074 ]

Q.14 "gaTeT IR TSN fH¥ FR® & siaila ot 8 St Siftnms &) wutfad wvear 82
Ans X A TR

X B. Gipids

X C. IS

& D. IS

Question ID : 75322913079 ]

Q.15 Which period is a time of sudden diverse, confusing, frightening mood swings ?
Ans ¥ A. Adolescence

#< B. Infancy
#5 C. Early-childhood
X D. Adulthood

Question ID : 75322913065 ]

Q.16 "Peer-Pressure" is a type of which factor that affects learning ?
Ans X A. Cultural factor

#< B. Emotional factor
& C. Social factor

#< D. Personal factor

Question ID : 75322913075 ]
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Q.17 The period just after the babyhood for about a year and a half is known as
Ans X A. Adulthood

#< B. Pre-school childhood
«” C. Toddlerhood
< D. Adolescence

Question ID : 75322913063 ]
Q.18 Jean Piaget theory of cognitive development has stages.
Ans X A.2
o B. 4
X C.3
X D.10
Question ID : 75322913066 ]

Q.19 The psycho-motor domain includes physical movements, coordination and use of the
___ skills.

Ans o A Motor
< B. Knowledge
#< C. Mathematics
#< D. Subject

Question ID : 75322913071 ]

Q.20 T GAIE a1 3ifgedta 7ar Tyuf g9 & fore uit &) U |1y T & &war o &
T ST ST gl

Ans X A fazeiyor
X B. §F
X C. Aidh Bl
& D. Iy

Question ID : 75322913072 ]

Section : Discipline2

Q.1 Curriculum development "does not" include :-
Ans X A. Organising the learning experiences

o B. Writing research papers
#5 C. Selecting the content

#< D. Evaluating the learning outcomes

Question ID : 75322913097

Q.2 PIED stands for :-
Ans o A. Project Integrated Education For The Disabled.

#5 B. Project Implement Education For The Disabled.
#< C. Project Integrated Education
#< D. Project Integrated Education For The Disabilities.

Question ID : 75322913094 ]
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Q.3 7z ufiufRy a1 a1 w1t i grdwie ¥ el W@ ar e & ik $A iR |9
&t ot Faa feh &7 & Wiem & fog weffa sar 31

Ans X A defiaRor

X B. THarmr

X C. JeRiaxu

& D. Fsiiaro

Question ID : 75322913088

Q4 "FHTART e & Aga F IR F TAd HYT BT TG DI
Ans X A T WP BT UG B BRI Frar g

X B. T8 AR AR &1 THU a1 g

 C. U8 Tavcl & 3R 31fie "3faT" s 8|

X D. T8 ST & IHA! BT IgaR I 8

Question ID : 75322913093 ]
Q.5 ldentify which one of the following is not a type of "curriculum”.
Ans  «# A. Class curriculum
#< B. Excluded curriculum
5 C. Explicit curriculum
#< D. Hidden curriculum
Question ID : 75322913096 ]

Q.6 Which amongst the following "Article" provides the provision for early childhood care
and education to children below the age of 6 years ?

Ans X A. Article 15
< B. Article 21A

o C. Article 45
5 D. Article 14
Question ID : 75322913084
Q.7 A child who can understand multiple languages shows the importance of factor

influencing learning.
Ans X A. Age-factor

2 B. Psychological factor
o C. Socio-cultural factor

#< D. Environmental factor

Question ID : 75322913082

Q8 TH P! ap-IP TaER R Tgd AT siaxfae o defiwwor #1 faRwar & =u
o ufyvire f5ar war 31 g Sita voam=n ¥ gfe, Jnerar iR dfie qurar o aRad=
AT 8, o wipfae Sga e 2|
Ans  # A FHDIAH GO
X B. IR ArmeT
X C. ThTHd HUd Trrge!
X D. YR A

Question ID : 75322913083
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Ans

< A. Race express
#< B. Race

#< C. Race cause
«” D. Race course

Q.9 The term "Curriculum” has been derived from a Latin word "Currere" which means :-

Question ID : 75322913099

Q.10 Which amongst the following is "not" a main component of Curriculum ?

#< B. Negative ways
#5 C. Only positive ways
2 D. Positive ways

Ans X A. Objectives
«” B. Research
#< C. Content
#< D. Learning experiences
Question ID : 75322913095
Q.11 Socio-cultural factors can influence a child learning in ways.
Ans  # A. Both ways Negative as well as Positive

Question ID : 75322913081

Ans

Q.12 Which of the following is "not" a correct way to stop Gender Inequality?

#< A. By creating equal job opportunities.
/< B. By ceasing child marriages.
#< C. By promoting human rights.

«” D. By setting different gender roles and duties.

Question ID : 75322913090

Q.13 Priyanka is suffering from "dyslexia”. So, which of the following characteristic will she

#< B. Social Classification
#< C. Social Belongingness
#< D. Social Equilibrium

show ?

Ans X A. Lack of motor-abilities

#< B. Divergent thinking.

#5 C. Attention deficit disorder.

«” D. Inability to read fluently.

Question ID : 75322913092

Q.14 is the condition of being arranged in social strata or classes within a group.
Ans  # A. Social Stratification

Question ID : 75322913085
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Q.15 is the comprehensive and integrated flagship programme, of the Government
of India, to attain the Universal Elementary Education(UEE) in the country in a mission
mode.

Ans X A. Nayee Talim
#< B. Eklavya Model
«” C. Sarva-Shiksha Abhiyan
#< D. National Policy of Education 1986

Question ID : 75322913087

Q.16 The traditional curriculum was centered around whom and who predominates in it ?
Ans X A. School-centered, School

#< B. Teacher-centered, Both
«” C. Subject- centered , Teacher
#< D. Child- centered, Child

Question ID : 75322913100

Q.17 Who gave the following definition of ‘Curriculum'?
"Curriculum" should be conceived as an epitome of the rounded whole of the
knowledge and experience of the human race."

Ans X A. Morroe
#< B. Crow and Crow
o C. Frobel
< D. Cunningham

Question ID : 75322913098

Q.18 "The act of ensuring that all children despite their differences, receive the opportunity
of being part of the same classroom as other children of their age."”

Ans X A. Disable education
«” B. Inclusive education
#< C. Primary education
#< D. Subjective education

Question ID : 75322913091

Q.19 Which amongst the following "does not" comes under the importance of diversity?
Ans X A. It fosters the feeling of unity.

«” B. It creates emotional disharmony among people.
< C. It helps to empathize people.

5 D. It helps people to share their experiences.

Question ID : 75322913089

Q.20 Which amongst the following is "not" a cause of linguistic differences in our country?
Ans X A. Geographical Causes

#< B. Political Causes
«# C. Moral Causes

< D. Economic Causes

Question ID : 75322913086

Section : Discipline3
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Q.1 ICT promotes and skills.
Ans  «# A. High order thinking and reasoning skills

#< B. Debating and Extempore skills
#< C. Cooking and Gardening skills
& D. Writing and Speaking skills

Question ID : 75322913106

Q.2 A child brought up in a Bihari Family ( where all members of the house communicate
with each other in Bihari )so, the child will automatically grow up learning the same
language. Identify that the language learnt by child within his family environment will
be his/her :-

Ans o A. First language
#< B. Regional language
#5 C. School language
#5 D. Second language

Question ID : 75322913109 ]

Q.3 Vinod is teaching mathematics in a priamry school. Choose the most important aspect
of his lesson plan.

Ans X A. Following the sequence of text-book.

«” B. Providing opportunities to children to allow construction of concepts through
inductive method.

#< C. Giving children extra home-work.

< D. Writing activities and extra-questions for further references.

Question ID : 75322913120

Q.4 The use of objective based teaching and testing does not include :-

Ans X A. Apparent expected student outcomes
< B. Assured assessments validity.
#< C. Clear curriculum definition

«” D. Ambiguity over syllabus:

Question ID : 75322913108

Q.5 wreht e faemea ® ver &6 71 FHufefad 1o 1 997 #¥ &t 33 v uRuive Rige &
ST AT R

Ans X' A 9E UgTd THY fRIen TgTd At &1 SuanT TE Rl 7
X B. 98 91 3IR el Y &) wgrar &t 81
o C. T8 ICT Y uRfa
2 D. T8 fR1e&/or & FHTaTs SUNTH &7 IUTNT el 2

Question ID : 75322913102

Q.6 One-word stage in language acquisition is known as
Ans X A. Monostage

< B. Telegraphic stage.
o C. Holophrastic stage
#< D. Cooing stage

Question ID : 75322913117
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Q.7 Which one of the following is not an "objective of using ICT in education"?
Ans & A. To hide transparency in education system

#< B. To ameliorate the quality of teaching in remote areas
#< C. To provide accessibility through online medium of education.

< D. To elimate the wastage of manual labour done by teachers.

Question ID : 75322913101

Q.8 The child learns his language primarily from and

Ans o A.first, parents and caretakers.
#< B. second, school and family.
#< C. first, school and community.

#< D. second, parents and grandparents

Question ID : 75322913110

Q.9 Identify the correct sequence of general objectives of teaching and learning the
English language ?

Ans X A SRLW
X B.LRSW
X C.RSLW
& D.LSRW

Question ID : 75322913112

Q.10 Which of the following "does not" comes under the use of ICT in education ?
Ans X A. It helps a teacher to teach creatively.

«” B. It makes teaching-learning monochromatic.
#< C. It expedite sharing of resources.

#< D. It shifts the outlook of the learner from hard work to smart work.

Question ID : 75322913103

Q.11 Identify the best strategy to explain that 1/4 is less than 1/3.
Ans X A.Using LCM method.

«” B. Using paper strips.
#< C. Using number chart.

< D. Using clay toys.

Question ID : 75322913119

Q.12 OBPTA Model stands for :-
Ans X A. Objective Based Plan Team Association

o B. Objective Based Planning, Teaching and Assessment.
#< C. Objective Based Part Time Assessment.
75 D. Objective Based Part Test Analysis.

Question ID : 75322913107
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Q.13 "Babbling" stage of language acquisition in a baby is between :-
Ans X A 9to 12 months

< B.4to7 years old
#< C. 0 to 3 months old
«” D. 6 to 8 months old

Question ID : 75322913114 ]
Q.14 Choose the statement which best describes "ICT in Education”.
Ans o A.ICT makes teaching learning more effective.
#< B.ICT acts as a liability for creating diversity in the classroom atmosphere.
#< C. ICT makes young learners lethargic.
< D. ICT is a cost-expensive technology.
Question ID : 75322913105 ]

Q.15 Which statement is "incorrect” in regards to objectives of "Teaching Mathematics"at
primary level ?

Ans X A. Children should learn to enjoy mathematics.
& B. Inculcating a feeling of aversion towards mathematics among children.
#< C. To develop logical thinking among the children.

< D. Making mathematics a part of children's real life experience.

Question ID : 75322913118 ]

Q.16 fgffEa & ¥ #1 dt "arqureT o fadivar 8- 82

Ans X A T Hafeg TR W Bl
X B. 39 IR0 & Fgnt SR S 31 srazadsdr e g1t B
X C. I8 g9 3R TP UIgpfad Ufsha g
o D. 30 SN Rigror fRufa & & ugran s waaigl

Question ID : 75322913111

Q.17 To enhance the language acquisition skills in 2 to3 years children, the parents should
not :-

Ans  # A. Chastise the child.
#< B. Ask the child yes or no questions.
5 C. Talk to them.

#< D. Encourage the child to use new words.

Question ID : 75322913116 ]

Q.18 fuffEd & ¥ S14 A1 "ATHRUI-3gaTg 3 & o1 & siavfa smar 32
Ans X A Tg Rieniia & srarfayr & @ ar gl
o B. 39 UG # U Trsal &1 ufrare Riandf &t sterm wwet e ad gl
X C. 7g fafy Fad ugA iR raa & Fd W Ha 1
< D. ATHTN TR SR 3R ZUFIT & HTST Y JUET Bt STt 51

Question ID : 75322913113
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Q.19 ICT stands for
Ans ¢ A. Information and communication technology, 8

and a byte consists bits.

#< B. Inter-connected term, 16
#< C. Intra-communication technology,10

#< D. International community terminology, 6

Question ID : 75322913104 ]
Q.20 Language delay in a child "cannot" result from
Ans o A. Heriditary diseases
#< B. A Hearing Impairment
< C. Autism
#< D. Mental Retardation
Question ID : 75322913115 ]

Section : Discipline4

Q.1 Depression, self-harm, anxiety disorders , eating disorders are all examples of
health problems faced by children.

Ans X A. Physical
/< B. Spiritual
«” C. Emotional
< D. Intellectual

Question ID : 75322913139

Q.2 fAgfifad syt & F “fRen § A1 3R Far @1 razgedl » R § TS ST 99— H?
Ans X A Tg BTl &Y I dIdTERYN & THY o1ell 31

o B. 3U9 BT 31997 4 QR 8 9 &

X C. U8 BT &I RIUI-ATRATT BT 3fHE o7 H Y ST 3|

X D. T8 B & 34 refayrlt 3R 3redt die ¥ JuR €1 F Yeradr a1 3

Question ID : 75322913132

Q.3 is a teaching technique that focuses on the investigation of real-world
problems using mathematics as a tool to make sense of the situation and map out
possible solutions.

Ans X A.The 5E lesson model
«# B. Mathematical modeling method
& C. Demonstartion method
#< D. The CRA model

Question ID : 75322913121

Q.4 Soma wants to teach about "EQUITY" in her classroom. Choose the most suitable
method of teaching for her.

Ans X A. Project Method
#< B. Question-Answer Method
o C. Assigning field work
#< D. Chalk and Talk Method

Question ID : 75322913130
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Q.5 & s il & & waw st nfafafy o1 999 ¥ R s=n wfae smuroneit #t
3t et fa e &% g

Ans X A TFERE TR X BT Idl M|
o B. Nl 3R S
X C. ghiea & I9g &1 Saaidh Sl
X D. T a1 R g &1 ufafafid &

Question ID : 75322913122

Q.6 in the "Gardening" is done to provide support for plant stems.
Ans  # A Staking
#< B. Culling
/< C. Deadheading
< D. Fertilizing
Question ID : 75322913135
Q.7 Physical education has evolved as a subject over time and its scope is not

Ans X A. Theory, Unconfined
#< B. Practical, Narrower
#< C. Monotonous, Broader

«” D. Multi-disciplinary, Confined

Question ID : 75322913136

Q.8 Which one of these is "not" an example of problems faced by a social studies teacher
?

Ans o A. Being professional with students and maintaining a healthy gap.
#< B. Lack of resources available
#5 C. Dealing with controversial topics

#< D. Making real life connections with the topics.

Question ID : 75322913129

Q.9 Parents and Community Resources can help primary children to understand E.V.S
better by :-

Ans X A. Giving them a research project.
#< B. Giving them extra-homework.
o C. Engaging them in real-life activities related to environment.

#< D. Telling them to play indoors.

Question ID : 75322913124

Q.10 Choose the most favourable statement about Social Science.
Ans X A. It does not focus on homogeneity.

/< B. ltis subjective.
#< C. itis not concerned with diverse concerns of the society.

«” D. It promotes the foundation for an analytical and creative mindset.

Question ID : 75322913128
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Q.11 Choose the incorrect statement about "Objectives of Physical Education”.
Ans & A. Reinforcement of malign fitness habits in our lifestyle.

#< B. Development of Socio-Psychological aspects like Leadership, Team-Spirit.
#< C. Development of motor abilities like strength, speed, endurance and flexibility.

#< D. Physical growth and development.

Question ID : 75322913134 ]

Q.12 IH HYF PTIUT B3 S e faemerg & a1 & a1 &1 9o T8 dar gl
Ans X A B B AGERA AR &M § GYR BT 31

X B. BT &I A7 UfRIUD &TaT I F@Ia B
% C. B! & aoid oY 3G H Hag Bl 8l
o D. BH & Ay 3R I & FHft a1 g1

Question ID : 75322913137
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Q.13 399 | fFQ Bl & di° TS iR &1 Mieed B4 3 U R 3t yfier &
U H I8 R fbar wrar 82

Ans X A ST UHT B 3Gl
X B. BT Bl 3N HRA AT
X C. 3% 30 W S Jg T & forg wiepfal I
& D. 37d SRR faaR! & forg 37 wR faedr

Question ID : 75322913131

Q.14 refers to the process through which we learn about the culture we live in.

Ans X A. Deculturation

«” B. Enculturation
2 C. Pre-culturation
< D. Unculturation

Question ID : 75322913133

Q.15 JAgT evs ® A & BRI F aR & UM Trgd! g, af FFufer@a & & 39d fore gaa
g Rieror vy 7 gifte
Ans A ORESH T3

X B. 9% 3R e fafy
2 C. = fafy
< D. vex fafdy

Question ID : 75322913125

Q.16 For teaching of EVS you are organising a field trip for "Plant Study". What according
to you doesnot comes under the objectives of this field trip?

Ans X A. observing and recording the differences in their external features.
«” B. ambiguity during classification of them on the basis of diversity seen.
#< C. identification of the familiar plants by their names.

#< D. recall the differences in shape, size, patterns and texture of them.

Question ID : 75322913126
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Q.17 Textbook of E.V.S is child-centered, so that the children learn by and not
by .
Ans X A.Knowledge, Skills

«” B. Exploring, Rote learning
#< C. Theory, Practical
#< D. Research, Subject

Question ID : 75322913123

Q.18 By using local resources, teachers can help students to their own knowledge,
develop providing them direct learning experiences.

Ans o A. Construct, Skills and Values
#< B. Skills and Values, Deconstruct
#< C. observe, rules and duties

#< D. receive, rules and duties

Question ID : 75322913127 ]

Q.19 HEH ITYH PUT BT 9T X &l "Tal A 3 RS WA B TG1aT1 g1 S arad
THF 1 gl HRar gt
Ans X A S Pl ITS W & forg gafed §7g = < &1

X B. Ry il # 4T A9 % SR o= & AfSe 387 3
o C. T Sita el o7 Urer R § o= Y FARaR aReyedt 81
< D. 9= &1 307 URGR & 1Y FIR & SRS Iad B Bl A S|

Question ID : 75322913138
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Q.20 aims to provide young people with accurate, age appropriate and culturally
relevant information; promote healthy attitudes and develop skills to enable them to
respond to real-life situations effectively.

Ans  «” A. Adolescence Education
< B. Youth Education
#< C. Juvenile Education
< D. Adult Education

Question ID : 75322913140

Section : Discipline5

Q.1 How can a teacher help adolescents ?
Ans X A. By being capricious to them.

/< B. By establishing peer-pressure in their environment.
o C. By expressing respect, care and love to them.

5 D. By discouraging them to talk on certain topics.

Question ID : 75322913144
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Q.2 Rashi is physically inactive. She can have :-
Ans X A. Slow learning.

#< B. Autism
45 C. Dyslexia

o’ D. Increased risk for diseases.

Question ID : 75322913145 ]

Q.3 Classroom physical activity cannot benefit students by :-
Ans X A. Easing their disruptive behaviour in classroom.

#< B. Enhancing their concentration.
«” C. Debilitating their academic performance.

5 D. Refining their motivation and engagement in learning process.

Question ID : 75322913150 ]

Q.4 fIereT Y gR1 B! & ARINS WRy &) 9¢[@1 ¢ 99d §: -
Ans X A Gd & Pefl U DI GHY-IRU F FebTerTl

o B. 3R 3R a1 faerera Il o1 wmed= &=
X C. gy H e g HH P T AT
X D. Qeifores fawat o sifafed T 311

Question ID : 75322913146 ]

Q.5 frgfafad & 4 & 91 Sy &1 Rian & qed $ Siattd TET omar a2
Ans X A Tg IS, TIN0T 3R WTHaT TS F IR H BRI Ua &l g

X B. TE MaGH Siia- HIA P [Ibr H GUR FHaT1 8
X C. U8 g1t T A e gedl & s iid w1 & Aae @xarg |
o D. T8 BT &I 4l iR TeIgRl &1 30w -1 R 8l

Question ID : 75322913154

Q.6 I A S ILTT A B A T I 1 qafa 31
Ans 3 A 3G

X B.®W

X C. =R

& D. 3fTolifdep

Question ID : 75322913155 ]

Q.7 The SMC does not ensure :-
Ans X A. Appointment of teachers.

o B. Content of lesson planning.
< C. Welfare of teachers and staff.

/< D. Fees and other charges.

Question ID : 75322913160 ]
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Q.8 Choose the incorrect statement in regards to "work education”.
Ans o A. It creates asymmetrical coordination between hand and brain.

#< B. It stabilizes problem-solving, critical thinking skills.
#< C. Inculcates professional readiness.

< D. Itis based on the principle of learning by doing.

Question ID : 75322913152

Q.9 is a multi-component approach by which schools use all opportunities for
students to make them physically active for more than 60 minutes each day.

Ans X A.CEPAP
« B. CSPAP
X C.CWADP
< D. CWDPA

Question ID : 75322913149

Q.10 Which one of these is "not" an example of “In-service training for teachers"?
Ans X A. Workshop

#< B. Seminar
#< C. Hands-on training
o D. Exhibition

Question ID : 75322913157

Q.1 et & fore Aarerelt=T ulkieror & of aga I gwam 1 Rl a7 S e
IUYF fahed &1 a0 B S T SUYF U | ST HT qui Hvelt 3

Ans  p A IATHICH TRIET HRIGH Yol T8 8 SR S ufyRil&&-umilfer & |
X B. JarTel= Rien HrisH fRerpt & arawiie faemr & Werar UeH Hral g
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Question ID : 75322913156

Q.12 Adolescence education can help to :-
Ans X A. Create slighter job-opportunities.

o B. Vitalize life.
#< C. Stir up harmful behaviour.

#< D. Promote early marriages.

Question ID : 75322913143

Q.13 AEP, 2005 stands for :-
Ans X A. Adolescence Equality Programme.

&” B. Adolescence Education Programme.
#5 C. Adolescence Equality Plan.
#< D. Adolescence Education Plan.

Question ID : 75322913142
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Q.14 CSPAP stands for :-
Ans X A. Compound School Physical Action Plan.

#< B. Compound School Plan Action Program.
#< C. Comprehensive School Part Analysis Program.
” D. Comprehensive School Physical Activity Program.

Question ID : 75322913148 ]

Q.15 The effective implementation of Work Education programme in schools should not
comprise which of the following dimension?

Ans  # A. Exhibition for parents.
#< B. Provision of funds and availability of resources — both expertise and materials.
#5 C. Scheme of work for the year.

#< D. Orientation programmes for teachers.

Question ID : 75322913153

Q.16 "Needing to release energy, with sudden outbursts of activity" is an emotional
characteristic displayed by :-

Ans  # A. An Adolescent
< B. An Adult
< C. A Gifted child
< D. A slow learner

Question ID : 75322913141 ]

Q.17 Carl Rogers believed that the self-concept was made of 3 different parts. Identify the
wrong type of part.

Ans X A Self-esteem
«” B. Self-discovery
< C. Selfimage
< D. Ideal-self

Question ID : 75322913158

Q.18 Schools are in a unique position to help students attain the nationally recommended
or more of moderate to vigorous physical activity daily.

Ans X A. 30 minutes
< B. 45 minutes
#< C. 15 minutes
«” D. 60 minutes

Question ID : 75322913147
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Q.20 In reference to work education programme a child's brain should be educated through

Ans X A.Arms
/< B.Eyes
5 C. Legs
«” D. Hand

Question ID : 75322913151
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